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16.

17.

18.

19.

20.

21,

Which of the following is a purely imaginary term
of the sequence 8 - 6i, 7 - 4i, 6 - 2i, ..... ?

1. 9th term 2. 2nd term
3. 4th term 4. 8th term
If §_denotes the sum of firstnterms of AP <a_ >,
Sm o m’ a,
such that E G g then T ?
1. 2m+1 ' 5 2m-1
2n+1 2n-1
3 m-1 4 mnl
n-1 n+1
The sum of all possible prbducts of the first n

natural numbers taken two by two is
n(n+1) '
—
n(n+1)(n+2)
6
nin-1)@Bn+2) |
24
4, 2n® + 3n? -

1

o

W

How many four digit numbers are there with
distinct digits ?

1. 5040 2. 4536
3. 30,240 4. 5274
fG +°C. . ="*'C thenx=7?
1r . 2.r-1
3.n Lo

‘The coefficient of the term independent of x in

10
the expansion[ - e } is
. BB x1/2
1. 8064 2 210
3. - 546 4. 5040

22

23.

24,

25

1
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‘There are 12 points in a pla'n'e' The number of

straight lines joining any two of them when 3 of
them are collinear, is '

1,680 2 63

3. 64 .

Whlch of the following is the correct pnnmple of
Mathematical Induction ? '
1. Let P(n) be a statement such that n be any
integer and P(1) is true. Also P(m) is true for
m, any hatural number, then P(n) is true for
all integers n
2. Let P(n) be a statement mvolvmg natural

number n such that P(1) is true and P(m) is -

true whenever P(n) is true for every n = m,
then, P(n)is true foralln e N (set of natural
numbers) o

3. Let P(n) be a statement where n € N such

that P(1) is true and P(n), P(n + 1) also holds .

then P(n)istrue ¥ ne N : _

4. Let P(n) be a statement involving the natural
number n, such that P(1) is true and
P(m + 1) is true for all n < m. Then P(n) is
trueforallne N '

If x> 0 and cot™' x - cot”" (x + 2) = 1—n2- thenthe

- value of x is
1. 243 2,43
a b 4 V3.1

If cot@(l+sine)=4m 0
andcot®(1-sin @) =4n '

then (m2-n22 =2

2. tan@

i 4 min
. -
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A

26.

cos[gg- + XJ cos (27 + X) {cot(sz—n—x} +cot (2n + x)} =2

27

28.

29,

30.

The value of

1.0 2
3. cosx 4. sinx

If sin B = 3 sin (2A + B), then

2tanA+tan (A+B)=7?

1.0 2.2
3.4 4. 1/3

T
Ife= 2ﬂ+1,then

2" cosh cos28 c0s2%0 .......cos2" '8 =7
1. sin® 2. 12
20 4 1

Using the principal values, the value of

sin”" sini]i}+tan’i tanﬁ =2
6 6

1. /6 2. 2n/3
3. W3 4. 51/6
Find cos™' [iJ +tan”" [§]= ?

5 5

31

32.

33.

34.

1306/04

7 0 25 '
IfX+Y:[2 EJandX-Y:[U 3],thenX:?

B 19
3. E 2] 4, [g

x*T =26, thenx="

oy

If

1.1 . 2.3
35 4 7
ai 2a;b o}
The value of | P a4 2353 =2
2ab b a
1. (a2 +b?)? 2. (a®+b%?
3. (a*+b*? 4, (a+b?)*

fA= E” s ‘1‘] then (A - A is

(where A' is transpose of matrix A)

1. Null matrix

2. ldentity matrix
3. Symmetric

4. Skew-symmetric

1A= [‘;’ g] andB-' = + [_g 7] then (aBy1 =2

1 [94-39] 5 |94 -82]
he? 34l 5 ooie 3g

3 - 47 461| Y 39!2]
: [sop2 7 - | 46 17
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36.

37.

38.

39.

40.

The value of limit, lim 221 _ 2
x=1:log,x
1.1
2.0
3. Not defined
4, -1
1/
lim {tan(1+x-]} =
%0 4 e
1. e . 2 g2
3. 1/e 4, 1/e?

The value of lim {W i

n+2 2
1 12 . 2.1
. .
- 4=
2 3 L
lfy:1+}—+i+§—,thenﬂ':?
1ol -l odx
l. e 2. sinx
3. ¥ . 4, %

The value of -d%[x“ log, xe*] is

: Xn-1
1. e*log x+ —
&2 loga

1
x w01 (nlog, X + — + x.log. x
2. ex log, Jog.a 9.

<
- .

3. nx"'log, xe*

4. X"log, x.€*

41.

42.

43.

44,

1306/04

The interval in which the function f(x) = sinx - cos x
0 < x £ 2n is strictly decreasing is

i 0<x<§£

4

2. 77:<x<2n

3r n
3. T<X< 2

Tr
4. 0<x< 2

The slope of normal to the curve y = x° + 2x + 6
which is parallel to line x + 14y + 4 =0 is

1 1
1. - = i
3 14

1

3. -4 4.-7

The approximate value of (0.009)™ is
{02

2. 0.2083

3. 0.0032

4. 0.0083

g = [ 00o B0 g

X
a ifx=0
WX
. jfx>0
16 + Vx - 4
then f(x) is continuous at x =0, fora =7
1. 4 2. N32
3. 8 4. 16
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45.

46.

47.

/2
dx
The value of I Skeens
0
1. 02 2.0
3. w4 4. /8
3x -2

—— —dx=7?

On evaluating I (c+3)x+ 1)2

1" ')

1. —4—|og[|x+1“x+3{]+2(x+1)+0
Elo X+3 1

2. 4 9 x+1| x+1

11 5 1
3. —4—Iog|x+2}+§(x+3)+_m+c

‘5

x+1‘
+2(x+1)+c

X+3

1

—Ilo
4. 2 g

The general solution of the linear differential

equation d—y+ secxy=tanx (0<x< EE) is
dx 2

&
{1 y=xseexenx) v gt
sec X+ tanx

C 1
+
secx+tanx tanx

2y Yot

x=+1

SV
secx+tanx

4. y=x+secx+tanx+C

48.

49.

50.

51,

1306/04

On solving the differential equation
x?ydx - (x®+y®) dy = 0, the value of logy = ?

2
x> g X

li g e L
3y? y?
2 3
3 5 - a -
3y3 X3+y3
The value of Iﬂ e dx=7
1+ cos x

1 2.e"f2tan§+C

2. e2tanx+C

3 —%—eﬂzsinXi—C

A X
4.29 sm2+C

4
On evaluation, the value of _[0 f(x) dx

o= 2|2 x<2 .
\.'\.'heref(x)_[xz_2 L B
1. 56 2. 60

3 -3
3. 66 4. 62
3 3

The particular solution of the differential equation

%— + y cot X = 2x + X cot x, such that y(n/2) = 0
is
2

Lyes i)

—y2. T
2 y=—y 5 tan x

2% 1
3. y= <t x2=(x¢0)
2
Egp e T i
4..y_x 4Sin>((snnx;&O)
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62.

63.

64.

s BB

The variance of the data

X 1 a a .. a
6 © O CE
(-
2 1 2
- (5 -3
2.1 2
.
2 2
1+al 1.+a2"
4 sl T

_An analysis of the weekly wages paid to wquers i
_in two firms A & B, belonging to the same

industry gwes the following results :

Firm A Firm B
Number of wage earners 586 648
Average of weekly wages Rs. 52.5 Rs.47.5
Variance of the _
 distribution of wages 100 .

then, which firm pays out larger amount and.

which shows greater variability rés’pective’ly. ?
1iAB 2. BA '
4. A /A

If the standard deviation of a variable X is._d then

the stan.dard-deviation of variable axih is
1 ac 2 8.
C
g l_.fa_lg e . 4. ac+hb
c . e

65.

66.

67.
 floor of an eight floor house. Suppose thateach
of them independently and with equal probability

_88..

.#.w-ru.—t

| 1306/04

Abag contains 50 tickets numbered 1,2, 3,....,50

of which five are drawn at random and arranged in
ascending order of magnitude (x < X <X <X, <X )
then the probabllaty thatx, =301 is

1 ExC 5 30Cx e,
. _50.05. > 5005
. 3" SC1X mCZ' 4 EOCZX 29C1 i

- e

lfSis the sample 'space' and P(A) = '— P(B)and

S=AuU B where A and B are two mutuaily_ E
_ exclusive events then P(A) =

1. 1/4
3. 3/4

2 1/2
4 3B

Five persons entered the lift cabin on the ground

can leave the cabin at any floor beglnnlng wnth_
the f|rst then the probablllty of a!l B persons '

_ieavmg at different ﬂoors IS

1. Ps F’ - 2_71
7 P
s € 4 b
B =

-In a thfee dimensional space the equatlon .

-5x+6=0 represents '
points --
planes: _

curves

none of these

~ Space for Rough Work -
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